Sample Paper of Assistant

Information and Library Network Centre

1. - In the following question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If a sentence is free from error, select No

Error'.

No sooner did I come out of my home to go to market (1)/ when it started raining heavily (2)/ which

drenched me completely. (3)/ No Error (4)

A1
B)2
©)3
(D) 4

In the following questions, the sentence given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate it by selecting the appropriate option.

2 . Fourteen kilometres

(A) are
(B) has
(C) have
D) is

3 Itis you to park your vehicle

(A) over to
(B) on to
(C)upto
(D) from to

4. Don’t loiter the corridor.

(A) around
(B) off
(C) of

(D) at

5. The picnic was good fun

(A) was it
(B) wasn’t it
(C) were it
(D) weren’t it

6. Do you have anyone who lives in Netherland.

(A)a

(B)an

(C) the

(D) no article

not a short distance, to reach to my office daily.
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7. In the following question, out of the four alternatives, select the word similar in meaning to the
word given.

Petrify

(A) Adorn
(B) Calm
(C) Curious
(D) Harden

8 . In the following question, out of the four alternatives, select the word similar in meaning to the
word given.

Mellifluous

(A) Shiver
(B) Frank
(C) Immoral
(D) Dulcet

9. In the following question, out of the four alternatives, select the word similar in meaning to the
word given.

Arbitrary

(A) Erratic
(B) Logical
(C) Steady
(D) Definite

10. In the following question, out of the four alternatives, select the word similar in meaning to the
word given.

Simulate

(A) Destroy
(B) Warn
(C) Imitate
(D) Idle

11. In the following question, out of the four alternatives, select the word opposite in meaning to the
word given.

Explicit

(A) Direct

(B) Specific
(C) Obscure
(D) Obvious
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12. In the following question, out of the four alternatives, select the word opposite in meaning to the
word given.

Tremulous

(A) Feeble
(B) Frugal
(C) Stable
(D) Vital

13. In the following question, out of the four alternatives, select the word opposite in meaning to the
word given.

Distort

(A) Improve
(B) Alter
(C) Bend
(D) Falsify

14. Choose the correct spelling

(A) Consequence
(B) Conciquence
(C) Consiquance
(D) Consciqunce

15. In the following question, out of the four alternatives, select the alternative which best expresses
the meaning of the idiom/Phrase.

To draw the longbow

(A) To nullify
(B) To exaggerate
(C) To underrate
(D) To demarcate

16. Her attracted everybody.

(A) languor

(B) liveliness

(C) passivity

(D) None of the above

17.1 could see that Frank for all night long.

(A) have studied

(B) studying

(C) had been studying
(D) were studying
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18. Improve the bracketed part of the sentence.
By rescuing the child from fire, the local resident (added another feather to his cap.)

(A) made a significant achievement
(B) was gifted with precious thing
(C) was crowned and rewarded

(D) No improvement

19 . In the following question, out of the four alternatives, select the alternative which is the best
substitute of the phrase.

One who walks in sleep

(A) Drover

(B) Fastidious

(C) Numismatist
(D) Somnambulist

20 You will not be able to participate you did’nt register.

(A) because
(B) than
(C) unless
(D) for

21. The “National Flag Day’ is celebrated on which day in India?

(A) 18 July
(B) 22 July
(C) 24 July
(D) 25 July

22. Penicillin was invented by

(A) Jonas E. Salk

(B) Louis Pasteur

(C) Paul Ehrlich

(D) Alexander Fleming

23. Which of the following gave ‘The Laws of Heredity?

(A) Robert Hook
(B) Gregor Mendel
(C) Charles Darwin
(D) William Harvey

24. India's first satellite is named after

(A) Aryabhatta
(B) Bhaskara II
(C) Bhaskara I
(D) Vikram Sarabhai
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25. Who is the first woman to be featured on the ‘wall of former chief economists’ of the IMF?

(A) Jayati Ghosh

(B) Arundhati Bhattacharya
(C) Gita Gopinath

(D) Arunima Sinha

26. India's first nuclear blast at Pokhran in Rajasthan took place in

(A) 1984
(B) 1974
(C) 1964
(D) 1954

27. Lala Lajpat Rai is also known as

(A) Sher-e-Punjab
(B) Punjab Kesari

(C) both (a) and (b)
(D) None of the above

28. James Webb Space Telescope is named after James E. Webb, who was he?

(A) President of the United States of America
(B) NASA astronaut

(C) American Astrophysicist

(D) NASA Administrator

29. Shaurya Chakra made up of bronze is awarded for

(A) gallantry otherwise than in the face of the enemy

(B) most conspicuous bravery for some act of self sacrifice
(C) gallantry in the presence of enemy

(D) None of the above

30.Winner of 68th National Film Award 2022 for Best Feature Film is

(A) Soorarai Pottru
(B) Tanhaji

(C )Pushpa

(D) None of the above

31."Population control and family planning" is listed in the list given in the Seventh
Schedule in the Constitution of India.

(A) Union

(B) State

(C) Global

(D) Concurrent

32. Goods for which demand move in the opposite direction of the income of the consumer are
called?

(A) Inferior goods

(B) Normal goods

(C) Complementary goods
(D) Substitute goods
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33. According to the categories of land mentioned in the Chola inscriptions was known
as the land donated to Jaina institutions?

(A) Vellanvagai

(B) Brahmadeya

(C) Shalabhoga

(D) Pallichchhandam

34, are defined as the mass movement of rock, debris or earth down a slope.

(A) Earthquake
(B) Cyclone
(C) Flood

(D) Landslide

35. Based on the common features like presence of notochord and dorsal hollow neural system,
animals like fishes, amphibians, reptiles, birds along with mammals are included in which Phylum?

(A) Mammalia
(B) Chordata
(C) Primata
(D) Insecta

36. Asterias (Star fish), Echinus (Sea urchin), Antedon (Sea Lily) are all examples of which Phylum?

(A) Echinodermata
(B) Annelida

(C) Platyhelminthes
(D) Arthropoda

37. In Microsoft Word, allows us to move selected paragraphs to the left.

(A) Decrease Indent
(B) Increase Indent
(C) Double Indent
(D) Single Indent

38. Acetic Acid is another name for which of the following?

(A) Vinegar

(B) Baking Soda

(C) Copper Sulphate
(D) Magnesium Oxide

39. scheme was launched by the Central Government in the state of Bihar to provide
clean water of the Ganges to domestic areas via postal services.

(A) Gangajal Delivery Scheme

(B) Mission Bhagiratha In Telangana
(C) National Apprenticeship Promotion
(D) Railway Travel Insurance
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40. Mattancherry Palace is located in?

(A) West Bengal
(B) Kerala

(C) Rajasthan
(D) Karnataka

41. A lien of a Government Servant to a post shall not be retained when. i. he proceeds on immediate
absorption outside his cadre (ii) on deputation beyond the maximum period

(A)Only (i) is true

(B)Only (ii) is true

(C)Both (i) and (ii) are true

(D)None of the above are true

42. Indicate the Rule under which a Government Servant may be required to subscribe to a provident
fund

(A)FR 14-B

(B)FR 16

(C)FR 14-A

(D)FR 11

43. Where it is proposed to hold an inquiry against a Government servant under this rule and rule 15,
the disciplinary authority shall draw up or cause to be drawn up

(A)the substance of the imputations of misconduct or misbehaviour into definite and distinct articles
of charge

(B)a statement of the imputations of misconduct or misbehaviour in support of each article of charge
(C)a list of documents by which, and a list of witnesses by whom, the articles of charge are proposed
to be sustained

(D)AIl the above

44. “Commission” as per CCS (CCA) Rules, 1965 means.

(A) Union Public Service Commission
(B) Staff Selection Commission
(C)Minorities Commission

(D)SC/ST Commission

45. As per CCS(LTC) Rules, Dependency is not applicable to
(A) Son

(B) Daughter

(C) Father

(D) Spouse

46. For which class of Govt.Servants (as per 7th Pay Commission), they are eligible for Air
travel(Business class) in respect of LTC?

(A) Group “A” officers

(B) Level 14 and above

(C) Pay Level 12 and above

(D) Pay and above.
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47. “Employee” under Sexual Harassment of Women at Workplace (Prevention, Prohibition, and
Redressal) Act 2013 means?

(A)regular employee
(B)temporary employee
(C)adhoc/daily wage employee
(D)AIl the above

48. Maintenance Contract is detailed in which Rule of GFR 20172
(A)Rule 123
(B)Rule 169
(C)Rule 211
(D)Rule 245

49. Performance Security should be for an amount of _ percent of the value of the contract as
specified in the bid documents?

(A)2% to 5%

(B)5% to 10%

(C)10% to 25%

(D)3% to 5%

50.Administrative accountability is established in government organizations by:
(a) Executive

(b) Legislature

(c) Judiciary

(d) All the three above

51.“Government servant” is defined under which section of CCS(Conduct) Rules 1964?
(A)Rule 1
(B) Rule 2
(©)Rule 3
(D) Rule 4

52. What is the maximum no.of Earned leave for persons serving in Vacation Departments during
each half year?

(A)15 days

(B)10 days

(C)5 days

(D)7 days

53. Where a Government servant who has been granted commuted leave quits service voluntarily
without returning to duty, the commuted leave shall be treated as?

(A)half pay leave

(B)Earned Leave

(C)Dies-non

(D)extra ordinary leave
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54.In Case of fully furnished accommodation allotted to a Govt. Servant,...... percent of cost of
furniture provided is added to salary for the purpose of income tax.

(A)75

(B) 10

(O)125

(D)None of above.

55.“Family” in the case of a male subscriber under GPF (CS) Rules 1960 includes (i) wife or wives or
husband (ii) parents (iii) children (iv) minor brothers and unmarried sisters (v) deceased son’s widow
and children

(A)(i) and (iii) only

(B)(i), (ii) and (iii) only

(O)(@), (ii), (iii) and (v) only

(D)AII the above

56.Emolument in New Pension System means
(A)Pay + NPA + DA

(B)Pay +DA

(C)Pay

(D)Pay + DA + TA

57.What is the normal time limit for disposal of the RTI request from the date of its receipt?
(A) 15 days
(B) 20 days
(C) 30 days
(D) 45 days

58.Tax at source will be deducted @ ...... from payments by way of rent for use of plant, machinery
or equipment.

(A) 2%

B) 7%

(©) 10%

(D) None

59.In case of temporary transfer HRA at the rates applicable at old station is admissible for
(A) 90 days

(B) Three Months

(C) 180 days

(D) None of above

60.A maximum of one grant in aid can be sanctioned for setting up a recreation club
(A)Rs. 200,000/-

(B)Rs. 50000/-

(C)Rs. 100,000/-

(D)No grant

61“Standards of financial propriety ” have been elaborated in Rule..... of General Financial Rules,
2017

(A) 26

(B) 21
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(C) 27
(D) 22

62.Who is the chief Accounting Authority in any Ministry /Department in Govt. of India:-
(A) Financial Adviser

(B) Head of Accounting Organisation

(C) Secretary

(D) Principal Accounts office

63. A Ministry Department may directly execute repair work costing upto

(A) Not authorised. Should get it done from CPWD/PWD

(B)Rs. 50 Lakh

(C) Rs. One crore 2

(D) Rs. 30 Lakh §

64.Physical verification of fixed assets is done on
(A) Annual basis

(B) Bi- annual basis

(C) Quarterly basis

(D) Six monthly basis

65. In INFLIBNET, who is the appointing authority for posts in pay Level-14

(A) Governing Board , INFLIBNET
(B)Director, INFLIBNET

(C) Governing council, INFLIBNET
D) U.G.C

66.The maximum period of probation of INFLIBNET employees is
(A) One Year.

(B)Three Years.

(C)Two Years.

(D)None of above.

67. INFLIBNET became an Inter-University Centre University Grants Commission
(A) March 1991

(B)June 1996

(C) April 1996

(D) None of above

68. e.PG Pathshalla has e-contents in...... subjects
(A) 54

(B) 66

©)70

(D) None of above

69. Education shine Excellence award was conferred to INFLIBNET in -
(A)August 2017

(B)July 2017

(C)February 2019

(D)April 2018
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70. A number consists of two digits. If the digits interchange places and the new number is added to
the original number, then the resulting number will be divisible by:

(A)3
(B)5
(&)
D)11

71.Difference of two numbers is 1660. If 7.5% of the number is 12.5% of the other number , find the
number ?

(A)5140 :

(B)5674 ' -
(C)4150

(D)2364

72.The teacher tells the class that the highest marks obtained by a student in her class is twice the
lowest marks plus 7. The highest score is 87. What is the lowest score?

(A)45
(B)40
(©)47
(D)1

73.The area of a square park is same as of a rectangular park. If the side of the square park is 60 m
and the length of the rectangular park is 90 m, find the breadth of the rectangular park.

(A)60 m
(B)90 m
(C)40 m
(D)45 m

74.A farmer has enough food to feed 20 animals in his cattle for 6 days. How long would the food last
if there were 10 more animals in his cattle?

(A
(B)3
©)6
D)7

75. A boat goes 75 km upstream in 3 hours and 60 km downstream in 1.5 hours. The speed of the boat
in still water is?

(A)32.5 kmph
(B)30 kmph
(C)65 kmph
(D)60 kmph

76.A cricketer has a certain average of runs for his 8 innings. In the ninth innings, he scores 100 runs,
thereby increases his average by 9 runs. His new average of runs is?
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(A)20
(B)24
(©)28
(D)32

77.A book-seller bought 200 textbooks for Rs. 12,000. He wanted to sell them at a profit so that he
got 20 books free. At what profit percent should he sell them?

(A)10%
(B)12%
(©)11.5%
(D)11%

78.The length and breadth of a rectangle are doubled. Percentage increase in area is?

(A)50%

(B)200%
(C)300%
(D)400%

79.A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the
probability that none of the balls drawn is blue?

(A)10/21
(B)11/21
(C)2/7
(D)5/7

80.Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together ?

(A)4
(B)10
(©)15
(D)16

81.A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The
sum is:

(A)Rs. 650
(B)Rs. 690
(C)Rs. 698
(D)Rs. 700

82.A man has Rs.480 in the denominations of one-rupee notes, five-rupee notes and ten-rupee notes.
The number of notes of each denomination is equal. What is the total number of notes that he has ?

(A)45
(B)60
(C)75
(D)90
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83.Look at this series: 12, 11, 13, 12, 14, 13, ... What number should come next?

(A)10
(B)16
(©)13
(D)15

84.Which word does NOT belong with the others?

(A)index
(B)glossary
(C)chapter
(D)book

85.Safe : Secure :: Protect :

(A)Lock
(B)Guard
(C)Sure
(D)Conserve

86. If, in a code, MIND becomes KGLB and ARGUE becomes YPESC, then what will DIAGRAM
be in that code?

(A)BGYPYEK
(B)LKBGYPK
(C)GLPEYKB
(D)BGYEPYK

87.Yard is to inch as quart is to

(A)gallon
(B)ounce
(C)milk

(D)liquid

88.ELFA, GLHA, ILJA, » MLNA

(A)OLPA
(B)KLMA
(C)LLMA
(D)KLLA

89.Rasik walked 20 m towards north. Then he turned right and walks 30 m. Then he turns right and
walks 35 m. Then he turns left and walks 15 m. Finally he turns left and walks 15 m. In which
direction and how many metres is he from the starting position?

(A)15 m West
(B)30 m East
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(C)30 m West
(D)45 m East

90.Within how many days after receiving a reply on the First Appeal, a Second Appeal can be filed?

(A)90 days
(B)60 days
(C)30 days
(D)120 days

91.Right to Information Act, 2005 came into force on which of the following date?

(A)22 June 2005
(B)12 October 2005
(C)15 June 2005
(D)15 August 2005

92.Journey by air by a non-entitled officer is regulated under-

(A)SR 48-A
(B)SR 48-B
(C)SR 48-C
(D)SR 48-D

93 A Government servant’s right to claim TA/DA is forfeited or deemed to have relinquished if it is
not made within-

(A)15 Days
(B)30 Days
(C)60 Days
(D)1 year

94.The form of the Annual Financial Statement and Demands for Grant is laid down by-

(A)The Comptroller and Auditor General of India
(B)The Controller General of Accounts

(C)The Ministry of Finance

(D)(b) on the advice of (a)

95.The Lokpal shall dispose of the complaints within a period of —

(A)30 days
(B)60 days
(C) 90 days
(D) 120 days

96.What is the full form of ‘PFMS’?

(A)Public Financial Management System
(B)Prime Minister’s Finance Measurement System
(C)Permanent Finance Management System
(D)Public Finance Monetary System
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97.The unique Permanent Retirement Account Number (PRAN) allotted to the members of National

Pension System has digits.

(A)10
(B)11
(©)12
(D)14

98.What does QCBS stand for?

(A)Quality Contract Bid Selection
(B)Quantity Conscious Bid Selection
(C)Quality and Cost Based Selection
(D)None of these

99.Issued capital refers to:

(A)Paid up value of all shares allotted
(B)Called up value of all shared allotted
(C)Nominal value of all shares allotted
(D)Nominal value of all shares offered to public

100. What does ISDN stand for?

(A)Integrated Services Data Network
(B)Information Sources Digital Network
(O)Integrated Services Digital Network
(D)Information Standard Data Network
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